

## Strong modular product and complete fuzzy graphs

**Talal Al-Hawary**

*Mathematics Department*

*Yarmouk University*

*Irbid*

*Jordan*

*talalhawary@yahoo.com*

**Abstract.** In this paper, we provide an improvement of the modular product of fuzzy graphs defined by [16] in 2015, which we call strong modular product. We give sufficient conditions for the strong modular product of two fuzzy graphs to be complete and we show that if the strong modular product of two fuzzy graphs is complete, then at least one factor is a complete fuzzy graph. Moreover, we give necessary and sufficient conditions for the strong modular product of two balanced fuzzy graphs to be balanced.

**Keywords:** fuzzy graph, complete fuzzy graph, strong modular product, balanced fuzzy graph.

### 1. Introduction

Graph theory applications in system analysis, operations research and economics are very important. Since the appearance of graph problems are sometimes not known beyond doubt, it is nice to deal with them via fuzzy logic. The concept of fuzzy relation was introduced by Zadeh [23] in his landmark paper "Fuzzy sets" in 1965. Fuzzy graph and several fuzzy graph concepts were introduced by Rosenfeld [21] in 1975. Lately, fuzzy graph theory is having more and more applications in real time modeling in which the level of information immanent in the system changes.

Mordeson and Peng [17] defined the concept of complement of fuzzy graph and studied some operations on fuzzy graphs. In [22], modified the definition of complement of a fuzzy graph so that the complement of the complement is the original fuzzy graph, which agrees with the classical graph case. Moreover several properties of self-complementary fuzzy graphs and the complement of some operations of fuzzy graphs that were introduced in [17] were studied. For more on the previous notions and the following ones, one can see [1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 17, 18, 19, 20, 21, 22].

A fuzzy subset of a non-empty set  $V$  is a function  $\sigma : V \rightarrow [0, 1]$  and a fuzzy relation  $\mu$  on  $\sigma$  is a fuzzy subset of  $V \times V$ . All throughout this paper, we assume that  $V$  is finite,  $\sigma$  is reflexive and  $\mu$  is symmetric.

**Definition 1.1.** [21] A fuzzy graph  $G : (\sigma, \mu)$  where  $\sigma$  is a fuzzy subset of  $V$  and  $\mu$  is a fuzzy relation on  $\sigma$  such that  $\mu(x, y) \leq \sigma(x) \wedge \sigma(y)$  for all  $x, y \in V$ ,

where  $\wedge$  stands for minimum. The underlying crisp graph of  $G$  is denoted by  $G^* : (\sigma^*, \mu^*)$  where  $\sigma^* = \text{supp}(\sigma) = \{x \in V : \sigma(x) > 0\}$  and  $\mu^* = \text{supp}(\mu) = \{(x, y) \in V \times V : \mu(x, y) > 0\}$ .  $H = (\sigma', \mu')$  is a fuzzy subgraph of  $G$  if there exists  $X \subseteq V$  such that,  $\sigma' : X \rightarrow [0, 1]$  is a fuzzy subset and  $\mu' : X \times X \rightarrow [0, 1]$  is a fuzzy relation on  $\sigma'$  such that  $\mu(x, y) \leq \sigma(x) \wedge \sigma(y)$  for all  $x, y \in X$ .

**Definition 1.2** ([20]). A fuzzy graph  $G : (\sigma, \mu)$  is complete if  $\mu(x, y) = \sigma(x) \wedge \sigma(y)$  for all  $x, y \in V$ .

Next, we recall the following two results from [22].

**Lemma 1.1.** Let  $G : (\sigma, \mu)$  be a self-complementary fuzzy graph. Then

$$\sum_{x, y \in V} \mu(x, y) = (1/2) \sum_{x, y \in V} (\sigma(x) \wedge \sigma(y))$$

**Lemma 1.2.** Let  $G : (\sigma, \mu)$  be a fuzzy graph satisfying  $\mu(x, y) = (1/2)(\sigma(x) \wedge \sigma(y))$  for all  $x, y \in V$ . Then  $G$  is self-complementary.

**Definition 1.3** ([15]). Two fuzzy graphs  $G_1 : (\sigma_1, \mu_1)$  with crisp graph  $G_1^* : (V_1, E_1)$  and  $G_2 : (\sigma_2, \mu_2)$  with crisp graph  $G_2^* : (V_2, E_2)$  are isomorphic if there exists a bijection  $h : V_1 \rightarrow V_2$  such that  $\sigma_1(x) = \sigma_2(h(x))$  and  $\mu_1(x, y) = \mu_2(h(x), h(y))$  for all  $x, y \in V_1$ .

**Lemma 1.3** ([18]). Any two isomorphic fuzzy graphs  $G_1 : (\sigma_1, \mu_1)$  and  $G_2 : (\sigma_2, \mu_2)$  satisfy  $\sum_{x \in V_1} \sigma_1(x) = \sum_{x \in V_2} \sigma_2(x)$  and

$$\sum_{x, y \in V_1} \mu_1(x, y) = \sum_{x, y \in V_2} \mu_2(x, y).$$

**Definition 1.4** ([5]). The density of a fuzzy graph  $G : (\sigma, \mu)$  is

$$D(G) = 2 \left( \sum_{u, v \in V} \mu(u, v) \right) / \left( \sum_{u, v \in V} (\sigma(u) \wedge \sigma(v)) \right).$$

$G$  is balanced if  $D(H) \leq D(G)$  for all fuzzy non-empty subgraphs  $H$  of  $G$ .

**Theorem 1.1** ([5]). A complete fuzzy graph is balanced.

A new operation on fuzzy graphs is next recalled:

**Definition 1.5** ([16]). The modular product of two fuzzy graphs  $G_1 : (\sigma_1, \mu_1)$  with crisp graph  $G_1^* : (V_1, E_1)$  and  $G_2 : (\sigma_2, \mu_2)$  with crisp graph  $G_2^* : (V_2, E_2)$  is defined to be the fuzzy graph  $G_1 \odot G_2 : (\sigma_1 \odot \sigma_2, \mu_1 \odot \mu_2)$  with crisp graph  $G^* : (V_1 \times V_2, E)$  where

$$E = \{(u_1, v_1)(u_2, v_2) : u_1 u_2 \in E_1, v_1 v_2 \in E_2\},$$

$(\sigma_1 \odot \sigma_2)(u, v) = \sigma_1(u) \wedge \sigma_2(v)$ , for all  $(u, v) \in V_1 \times V_2$  and  $(\mu_1 \odot \mu_2)((u_1, v_1)(u_2, v_2)) = \mu_1(u_1 u_2) \wedge \mu_2(v_1 v_2)$  when  $u_1 u_2 \in E_1, v_1 v_2 \in E_2$ ,  $(\mu_1 \odot \mu_2)((u_1, v_1)(u_2, v_2)) = \sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2)$  when  $u_1 u_2 \notin E_1, v_1 v_2 \notin E_2$ .

In [16], it was proved that the modular product of two strong fuzzy graphs is a strong fuzzy graph. Clearly, the modular product of two complete fuzzy graphs need not be a complete fuzzy graph as  $(\mu_1 \odot \mu_2)((u_1, v_1)(u_2, v_2))$  is not defined above for the case  $u_1 = u_2$  or  $v_1 = v_2$ .

In Section 2 of this paper, we provide an improvement of the modular product of fuzzy graphs defined by [16], which we call strong modular product. We give sufficient conditions for the strong modular product of two fuzzy graphs to be complete and we show that if the strong modular product is complete, then at least one factor is a complete fuzzy graph. Section 3 is devoted to give necessary and sufficient conditions for the strong modular product of two fuzzy balanced graphs to be balanced.

## 2. Strong modular product of fuzzy graphs

It clear that the modular product of two complete fuzzy graphs need not be complete, see the example in Figure 4.1 in [16]. Next, we modify the above definition so that the preceding property holds.

**Definition 2.1.** *The strong modular product of two fuzzy graphs  $G_1 : (\sigma_1, \mu_1)$  with crisp graph  $G_1^* : (V_1, E_1)$  and  $G_2 : (\sigma_2, \mu_2)$  with crisp graph  $G_2^* : (V_2, E_2)$  is defined to be the fuzzy graph  $G_1 \boxplus G_2 : (\sigma_1 \boxplus \sigma_2, \mu_1 \boxplus \mu_2)$  with crisp graph  $G^* : (V_1 \times V_2, E)$  where*

$$E = \{(u_1, v_1)(u_2, v_2) : u_1 u_2 \in E_1, v_1 v_2 \in E_2\},$$

$(\sigma_1 \boxplus \sigma_2)(u, v) = \sigma_1(u) \wedge \sigma_2(v)$ , for all  $(u, v) \in V_1 \times V_2$  and

$$\begin{aligned} & (\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) \\ &= \begin{cases} \mu_1(u_1 u_2) \wedge \mu_2(v_1 v_2), & u_1 u_2 \in E_1, v_1 v_2 \in E_2 \\ \sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2), & u_1 u_2 \notin E_1, v_1 v_2 \notin E_2 \\ \sigma_1(u_1) \wedge \mu_2(v_1 v_2), & u_1 = u_2, v_1 v_2 \in E_2 \\ \sigma_2(v_1) \wedge \mu_1(u_1 u_2), & u_1 u_2 \in E_1, v_1 = v_2. \end{cases} \end{aligned}$$

Next, we show that the above definition is well-defined.

**Theorem 2.1.** *The strong modular product of two fuzzy graphs is a fuzzy graph.*

**Proof.** Let  $G_1 : (\sigma_1, \mu_1)$  and  $G_2 : (\sigma_2, \mu_2)$  be two fuzzy graphs with underlying graphs  $G_1^* : (V_1, E_1)$  and  $G_2^* : (V_2, E_2)$ , respectively. Since Case 1 and Case 2 are proved in [16] and as Case 3 is similar to Case 4, we only prove Case 3.

Case 3. If  $u_1 = u_2, v_1 v_2 \in E_2$ , then as  $G_2$  is a fuzzy graph

$$\begin{aligned} (\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) &= \sigma_1(u_1) \wedge \mu_2(v_1 v_2) \\ &\leq \sigma_1(u_1) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2). \end{aligned}$$

Thus

$$\begin{aligned} (\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) &\leq \sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2) \\ &\quad ((\sigma_1 \boxplus \sigma_2)(u_1, v_1)) \wedge ((\sigma_1 \boxplus \sigma_2)(u_2, v_2)). \quad \square \end{aligned}$$

Next, we show that the strong modular product of two complete fuzzy graphs are again a complete fuzzy graph.

**Theorem 2.2.** *If  $G_1 : (\sigma_1, \mu_1)$  and  $G_2 : (\sigma_2, \mu_2)$  are complete fuzzy graphs, then  $G_1 \boxplus G_2$  is a complete fuzzy graph.*

**Proof.** If  $(u_1, v_1)(u_2, v_2) \in E$ , then we have the following cases:

Case 1.  $u_1u_2 \in E_1, v_1v_2 \in E_2$ .

Case 2.  $u_1u_2 \notin E_1, v_1v_2 \notin E_2$ .

Case 3.  $u_1 = u_2, v_1v_2 \in E_2$ .

Case 4.  $u_1u_2 \in E_1, v_1 = v_2$ .

Cases 1 and 2 follow from the proof of Theorem 4.2 in [16]. Case 3 and Case 4 are similar, so we only prove Case 3.

Case 3. Since  $G_2$  is complete,

$$\begin{aligned} (\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) &= \sigma_1(u_1) \wedge \mu_2(v_1v_2) \\ &= \sigma_1(u_1) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2) \\ &= \sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2) \\ &= (\sigma_1 \boxplus \sigma_2)((u_1, v_1)) \wedge (\sigma_1 \boxplus \sigma_2)((u_2, v_2)). \end{aligned}$$

Hence,  $G_1 \boxplus G_2$  is complete.  $\square$

**Corollary 2.1.** *If  $G_1 : (\sigma_1, \mu_1)$  and  $G_2 : (\sigma_2, \mu_2)$  are complete (strong) fuzzy graphs, then  $G_1 \boxplus G_2$  is a strong fuzzy graph.*

An interesting property of complement is given next.

**Theorem 2.3.** *If  $G_1 : (\sigma_1, \mu_1)$  and  $G_2 : (\sigma_2, \mu_2)$  are complete fuzzy graphs, then  $\overline{G_1 \boxplus G_2} \simeq \overline{G_1} \boxplus \overline{G_2}$ .*

**Proof.** Let  $G : (\sigma, \bar{\mu}) = \overline{G_1 \boxplus G_2}$ ,  $\bar{\mu} = \overline{\mu_1 \boxplus \mu_2}$ ,  $\overline{G^*} = (V, \overline{E})$ ,  $\overline{G_1} : (\sigma_1, \bar{\mu}_1)$ ,  $\overline{G_1^*} = (V_1, \overline{E_1})$ ,  $\overline{G_2} : (\sigma_2, \bar{\mu}_2)$ ,  $\overline{G_2^*} = (V_2, \overline{E_2})$  and  $\overline{G_1} \boxplus \overline{G_2} : (\sigma_1 \boxplus \sigma_2, \bar{\mu}_1 \boxplus \bar{\mu}_2)$ . We only need to show  $\overline{\mu_1 \boxplus \mu_2} = \bar{\mu}_1 \boxplus \bar{\mu}_2$ . For any arc  $e$  joining nodes of  $V$ , we have the following cases:

Case 1. If  $u_1u_2 \in E_1, v_1v_2 \in E_2$ , then as  $G$  is complete by Theorem 2.2,  $\bar{\mu}(e) = 0$ . On the other hand,  $(\bar{\mu}_1 \boxplus \bar{\mu}_2)(e) = 0$  since  $u_1u_2 \notin \overline{E_1}$  and  $v_1v_2 \notin \overline{E_2}$ .

Case 2. If  $u_1u_2 \notin E_1, v_1v_2 \notin E_2$ , then this case is not possible to occur as both  $G_1$  and  $G_2$  are complete.

Case 3.  $e = (u, v_1)(u, v_2)$  where  $v_1v_2 \in E_2$ . Then as  $G$  is complete by Theorem 2.2,  $\bar{\mu}(e) = 0$ . On the other hand,  $(\bar{\mu}_1 \boxplus \bar{\mu}_2)(e) = 0$  since  $v_1v_2 \notin \overline{E_2}$ .

Case 4. Similar proof to Case 3.

In all cases  $\overline{\mu_1 \boxplus \mu_2} = \bar{\mu}_1 \boxplus \bar{\mu}_2$  and therefore,  $\overline{G_1 \boxplus G_2} \simeq \overline{G_1} \boxplus \overline{G_2}$ .  $\square$

Next, we show that if the strong modular product of two fuzzy graphs is complete, then at least one of the two fuzzy graphs must be complete.

**Theorem 2.4.** *If  $G_1 : (\sigma_1, \mu_1)$  and  $G_2 : (\sigma_2, \mu_2)$  are fuzzy graphs such that  $G_1 \boxplus G_2$  is complete, then at least  $G_1$  or  $G_2$  must be complete.*

**Proof.** Suppose to the contrary that both  $G_1$  and  $G_2$  are not complete. Then there exists at least one  $u_1, u_2 \in V_1$  and  $v_1, v_2 \in V_2$  such that  $\mu_1(u_1u_2) < \sigma_1(u_1) \wedge \sigma_1(u_2)$  and  $\mu_2(v_1v_2) < \sigma_2(v_1) \wedge \sigma_2(v_2)$  then, we have the following cases:

Case 1. If  $u_1u_2 \in E_1, v_1v_2 \in E_2$ , then  $(\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) = \mu_1(u_1u_2) \wedge \mu_2(v_1v_2)$  and as  $G_1 \boxplus G_2$  is complete,

$$\begin{aligned} (\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) &= (\sigma_1 \boxplus \sigma_2)((u_1, v_1)) \wedge (\sigma_1 \boxplus \sigma_2)((u_2, v_2)) \\ &= \sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2) \\ &> \mu_1(u_1u_2) \wedge \mu_2(v_1v_2), \end{aligned}$$

which is a contradiction.

Case 2. If  $u_1u_2 \notin E_1, v_1v_2 \notin E_2$ , then  $(\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) = \sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2)$  and as  $G_1 \boxplus G_2$  is complete,

$$\begin{aligned} (\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) &= (\sigma_1 \boxplus \sigma_2)((u_1, v_1)) \wedge (\sigma_1 \boxplus \sigma_2)((u_2, v_2)) \\ &= \sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2) \\ &= \mu_1(u_1u_2) \wedge \mu_2(v_1v_2), \end{aligned}$$

which is a contradiction.

Case 3. If  $u_1 = u_2, v_1v_2 \in E_2$ , then  $(\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) = \sigma_1(u_1) \wedge \mu_2(v_1v_2)$  and as  $G_1 \boxplus G_2$  is complete,

$$\begin{aligned} (\mu_1 \boxplus \mu_2)((u_1, v_1)(u_2, v_2)) &= (\sigma_1 \boxplus \sigma_2)((u_1, v_1)) \wedge (\sigma_1 \boxplus \sigma_2)((u_2, v_2)) \\ &= \sigma_1(u_1) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2) \\ &> \mu_1(u_1u_2) \wedge \mu_2(v_1v_2), \end{aligned}$$

thus  $G_1 \boxplus G_2$  is not complete.

Case 4. If  $u_1u_2 \in E_1, v_1 = v_2$ , the proof is similar to Case 3.  $\square$

### 3. Blanced notion virsus strong modular product

We begin this section by proving the following lemma that we use to give necessary and sufficient conditions for the strong modular product of two balanced fuzzy graphs to be balanced.

**Lemma 3.1.** *Let  $G_1$  and  $G_2$  be fuzzy graphs. Then  $D(G_i) \leq D(G_1 \boxplus G_2)$  for  $i = 1, 2$  if and only if  $D(G_1) = D(G_2) = D(G_1 \boxplus G_2)$ .*

**Proof.** If  $D(G_i) \leq D(G_1 \boxplus G_2)$  for  $i = 1, 2$ , then

$$\begin{aligned} D(G_1) &= 2\left(\sum_{u_1, u_2 \in V_1} \mu_1(u_1 u_2)\right) / \left(\sum_{u_1, u_2 \in V_1} (\sigma_1(u_1) \wedge \sigma_1(u_2))\right) \\ &\geq 2\left(\sum_{\substack{u_1, u_2 \in V_1 \\ v_1, v_2 \in V_2}} \mu_1(u_1 u_2) \wedge \mu_2(v_1 v_2)\right) / \left(\sum_{\substack{u_1, u_2 \in V_1 \\ v_1, v_2 \in V_2}} (\sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2))\right) \\ &= 2\left(\sum_{\substack{u_1, u_2 \in V_1 \\ v_1, v_2 \in V_2}} \mu_1(u_1 u_2) \wedge \mu_2(v_1 v_2)\right) / \left(\sum_{\substack{u_1, u_2 \in V_1 \\ v_1, v_2 \in V_2}} (\sigma_1(u_1) \wedge \sigma_1(u_2) \wedge \sigma_2(v_1) \wedge \sigma_2(v_2))\right) \\ &= 2\left(\sum_{\substack{u_1, u_2 \in V_1 \\ v_1, v_2 \in V_2}} \mu_1 \boxplus \mu_2((u_1, v_1)(u_2, v_2))\right) / \left(\sum_{\substack{u_1, u_2 \in V_1 \\ v_1, v_2 \in V_2}} (\sigma_1 \boxplus \sigma_2((u_1, v_1)(u_2, v_2))\right) \\ &= D(G_1 \boxplus G_2). \end{aligned}$$

Hence, in all cases  $D(G_1) \geq D(G_1 \boxplus G_2)$  and thus  $D(G_1) = D(G_1 \boxplus G_2)$ . Similarly,  $D(G_2) = D(G_1 \boxplus G_2)$ . Therefore,  $D(G_1) = D(G_2) = D(G_1 \boxplus G_2)$ .  $\square$

**Theorem 3.1.** *Let  $G_1$  and  $G_2$  be balanced fuzzy graphs. Then  $G_1 \boxplus G_2$  is balanced if and only if  $D(G_1) = D(G_2) = D(G_1 \boxplus G_2)$ .*

**Proof.** If  $G_1 \boxplus G_2$  is balanced, then  $D(G_i) \leq D(G_1 \boxplus G_2)$  for  $i = 1, 2$  and by Lemma 3.1,  $D(G_1) = D(G_2) = D(G_1 \boxplus G_2)$ .

Conversely, if  $D(G_1) = D(G_2) = D(G_1 \boxplus G_2)$  and  $H$  is a fuzzy subgraph of  $G_1 \boxplus G_2$ , then there exist fuzzy subgraphs  $H_1$  of  $G_1$  and  $H_2$  of  $G_2$ . As  $G_1$  and  $G_2$  are balanced and  $D(G_1) = D(G_2) = n_1/r_1$ , then  $D(H_1) = a_1/b_1 \leq n_1/r_1$  and  $D(H_2) = a_2/b_2 \leq n_1/r_1$ . Thus  $a_1 r_1 + a_2 r_1 \leq b_1 n_1 + b_2 n_1$  and hence  $D(H) \leq (a_1 + a_2)/(b_1 + b_2) \leq n_1/r_1 = D(G_1 \boxplus G_2)$ . Therefore,  $G_1 \boxplus G_2$  is balanced.  $\square$

**References**

[1] T. Al-Hawary, *Matroid’s filterbase*, Indian J. Math., 60 (2018), 301-310.  
 [2] T. Al-Hawary, B. Hourani, *On intuitionistic product fuzzy graphs*, Ital. J. Pure Appl. Math., 38 (2017), 113-126.  
 [3] T. Al-Hawary,  *$\beta$ -greedoids*, Matematicki Vesnik, 66 (2014), 343-350.  
 [4] T. Al-Hawary, S. Al-Shalaldeh, M. Akram, *Certain matrices and energies of fuzzy graphs*, TWMS J. Pure App. Math., 14 (2023), 50-68.  
 [5] T. Al-Hawary, *Complete fuzzy graphs*, Inter. J. Math. Combin., 4 (2011), 26-34.  
 [6] T. Al-Hawary, *Complete Hamacher fuzzy graphs*, J. Appl. Math. Informatics, 40 (2022), 1043-1052.

- [7] T. Al-Hawary, *Maximal Strong product and balanced fuzzy graphs*, to appear in J. Appl. Math. Informatics.
- [8] T. Al-Hawary, Mohammed Hashim, *Semi-fuzzy graphs*, to appear in Boletim da Sociedade Paranaense de Matematica.
- [9] T. Al-Hawary, *Fuzzy flats*, Indian J. Mathematics, 55 (2013), 223-236.
- [10] T. Al-Hawary, *Operations on greedoids*, Mathematica, 64 (2022), 3-8.
- [11] T. Al-Hawary, B. Hourani, *On intuitionistic product fuzzy graphs*, Ital. J. Pure Appl. Math., 38 (2016), 113-126.
- [12] T. Al-Hawary, *On modular flats and pushouts of matroids*, Ital. J. Pure Appl. Math., 43 (2020), 237-241.
- [13] T. Al-Hawary, *Density Results for Perfectly Regular and Perfectly Edge-regular Fuzzy Graphs*, J. Disc. Math. Scie. Cryptography, 2 (2022), 1-10.
- [14] M. Akram, D. Saleem, T. Al-Hawary, *Spherical fuzzy graphs with application to decision-making*, Math. and Comput. Appls., 25 (2020), 8-40.
- [15] K. R. Bhutani, *On automorphism of fuzzy graphs*, Pattern Recognition Letter, 9 (1989), 159-162.
- [16] S. Dogra, *Different types of product of fuzzy graphs*, Prog. Nonlin. Dyn. Chaos, 3 (2015), 41-56.
- [17] J. N. Mordeson, C. S. Peng, *Operations on fuzzy graphs*, Information Sciences, 79 (1994), 381-384.
- [18] A. Nagoor Gani, J. Malarvizhi, *Isomorphism on fuzzy graphs*, Int. J. Comp. and Math. Sci., 2 (2008), 190-196.
- [19] A. Nagoor Gani, J. Malarvizhi, *Isomorphism properties on strong fuzzy graphs*, Int. J. Algorithms, Comp. and Math., 2 (2009), 39-47.
- [20] A. Nagoor Gani, K. Radha, *On regular fuzzy graphs*, J. Physical Sciences, 12 (2008), 33-40.
- [21] A. Rosenfeld, *Fuzzy graphs*, in L.A. Zadeh, K.S. Fu, K. Tanaka and M. Shirmura (Eds.), *Fuzzy and their applications to cognitive and decision processes*, Academic Press, New York, 1975, 77-95.
- [22] M.S. Sunitha, A. V. Kumar, *Complements of fuzzy graphs*, Indian J. Pure Appl. Math., 33 (2002), 1451-1464.
- [23] L.A. Zadeh, *Fuzzy sets*, Inform. Control., 8 (1965), 338-353.

Accepted: June 17, 2022